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SN S0
M HRSHA|(LSH)
&l D122 (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
O= AR 5,232
—Z S A 286,000 x1CH+ 123 3,432
—SHSE A 150,000 *1CH+ 122 1,800
OF IRt 55,0002 1CH+12& 660
02 2224l 29,59 29,599 0
ORI 150,000& x 123 1,800
OJIEtE3R3 12,600
—&II23 12,600
A 400,000& = 12& 4,800
S, RAXN S
120,000& x 123 1,440
Sl 330,000& =123 3,960
MES& 200,000& =123 2,400
O&=E 23 30,000& *12& 360
OH = | 6,849
— Al
1,300&%1.7 £ *8A| 2301+ 100 5,304
—=X4l 1,300&*4.95 £ *8A| 2+x30 1,545
OXtss X 2e| 7,950
—LE32(ER) 3,450,000 *1CH 3,450
— &= XHASEIGIRTEF)
3,450,000 *1CH 3,450
—SEE (M L L2 S)
350,000 *3CH 1,050
OXtS XAl 40,000 *1CH 40
202 0idl 40,600 40,600
01 =WHOdbI 40,600 40,600
OZLHHI 200,000& x14H 123 33,600
O&204y| 50,000 =148 10 7,000
203 HRF=&lY| 10,560 10,476 84
01 J|2A2YHRF=&IH| 7,000 7,000 0
o 7,000,000& 7,000
02 HRIMAARFXRIH| 560 476 84
OFJ AR FLIH| 40,0003+ 145 560
M EA2IHRFALI 3,000 3,000 0
ORN2IYRFAI 250,000 <128 3,000




